
 
 

B. A. 3rd Semester (Hons.) Examination 2022 

PHILOSOPHY 

Course ID: 30614                Course Code: AH/PHI/304GE-3 

Course Title: Western Logic 

Time: 2 Hours                       Full Marks: 40 

The figures in the right hand side margin indicate full marks. 
Candidates are required to give their answers in their own words as for as practicable. 

দি¢ণ ĴাĜƐ সংখ�াªিল Ĵেűর পূণƳমােনর িনেদƳশক। 
পরী¢াথƳীেদর যথাসŕব িনেজর ভাষায় উóর িদেত হেব। 

1. Answer any five of the following questions:                    2x5 = 10 
িনŏিলিখত Ʊযেকান পাচঁিট  Ĵেűর উóর দাও:    

a) What is singular class? 
একক ƱŴণী কােক বেল? 

b)  What is ‘fallacy of Existential Import’? Explain with the help of an example. 
‘অিƌüমূলক Ʊদাষ’ কােক বেল? একিট উদাহরেনর সাহােয� বুিঝেয় দাও। 

c) What is Tautologus statement form? Explain with the example. 
Ɨতঃসত� বচনাকার কােক বেল? উদাহরণ সহেযােগ ব�াখ�া কর। 

d) Represent the Venn diagram of “All precious gems are not diamond”. 

Ʊভনিচেø Ĵকাশ কেরা : “সব মূল�বানরö হীরা নয়”। 

e) When an argument form is valid? 

একিট যুি�র আকার কখন Ʋবধ হয় ? 
f) Give the obverse of “Nothing is both bitter and sweet.” 

িববিতƳত Ŝপ দাও: “Ʊকান িকছুই যুগপৎ Ʊতেতা ও িমিŻ নয়” 

g) What are the differences between Complementary class and Contrary Class? 

পিরপূরক ƱŴণী ও িবপরীত ƱŴণীর পাথƳক� িক? 

h) When does logical relationship develop between two propositions? 

দুিট বচেনর মেধ� কখন Ʊযৗি�ক সŐকƳ ĴিতŽা করা সŕব ? 

2. Answer any four of the following questions:                             5x4=20                              

িনŏিলিখত Ʊয Ʊকান চারিট  Ĵেűর উóর দাও:    

a) What is Conversion? Is Conversion of Proposition “O” possible? Explain with example.     2+3 

আবতƳন কােক বেল? O বচেনর আবতƳন িক সŕব? আেলাচনা কর। 
b) What is Existential Import? Explain the Existential Import of universal propositions after 

Modern Logic.           2+3 

অিƌüমূলক তাৎপযƳ কােক বেল? আধুিনক যুি�িবÑান অনুসরণ কের সামান� বচনªিলর অিƌüমূলক তাৎপেযƳর 

ব�াখ�া দাও। 

 



 
 

c) Use the truth tables to determine the following propositional forms whether tautology or self-
contradictory or contingent:                         2.5 +2.5 
সত�সারণীর সাহােয� িনেŏর বচনাকারªিল Ɨতঃসত� না Ɨতঃিমথ�া না আপিতক িনণƳয় কর: 

i. p כ q . ( ~p .~q )  
ii. ~q כ (p v q)  

d) Determine the validity of the following syllogism by means of Venn diagram:  

Children are always cowards, but not always liars. Therefore, liars are not always cowards 

Ʊভনিচেøর সাহােয� িনŏিলিখত ন�ায়িটর Ʋবধতা িবচার কর  :  

িশŭরা সবƳদা ভীś িকĝ তারা সবƳদা িমথ�াবাদী নয়। অতএব িমথ�াবাদীরা সবƳদা ভীś নয়। 

e) If p = T, q = F, r = T, then determine the truth value of the followings:                     2.5 +2.5 
i.  (~~p v ~q) ≡ ~p כ (r כ q) 
ii. (p .~r) v q . p  

যিদ p = T, q = F, r = T হয় তাহেল িনŏিলিখত বচনাকারªিলর সত�মূল� িবচার কর: 

i.  (~~p v ~q) ≡ ~p כ (r כ q) 
ii. (p . ~r) v q . p   

f) Explain the rules of validity of Categorical Syllogism following I. M. Copi. 

আই. এম. Ʊকািপেক অনুসরণ কের িনরেপ¢ ন�ােয়র Ʋবধতার িনয়মªিল আেলাচনা কর। 

3. Answer any one of the following questions:                         10x1=10 

িনŏিলিখত Ʊয Ʊকান একিট Ĵেűর উóর দাও:    

a) Define opposition of propositions. Explain and illustrate, with the help of example, different 
kinds of opposition of propositions.                      2+8= 10 
বচেনর িবেরািধতা কােক বেল? িবিভĨ Ĵকার বচেনর িবেরািধতাªিল উদাহরণ সহেযােগ আেলাচনা কেরা। 

b) Determine the validity of the following arguments with the help of truth table:         5+5=10 
সত�সারনীর সাহােয� িনŏিলিখত যুি�ªিলর Ʋবধতা িবচার কর:          

i. If Copernicus was right then Ptolemy was wrong. Ptolemy was wrong. Therefore, 
Copernicus was right. 

যিদ Ʊকাপারিনকাস িঠক কথা বেল থােকন তাহেল টেলিম ভূল বেলেছন। টেলিম ভূল বেলিছেলন। 

অতএব Ʊকাপারিনকাস িঠক কথা বেলিছেলন। 

ii. T כ (U . V) 
         (U v V) כ W 
        T כ W 

c) Test the validity of the following arguments by means of Venn-diagram :                 5+5=10 

Ʊভনিচেøর সাহােয� িনŏিলিখত যুি�ªিলর Ʋবধতা িবচার কর : 

i. Players must have a healthy mind. Because, only those who have a healthy body, 
their mind is healthy and the players must have a healthy body. 
Ʊখেলায়ােড়রা সুƐ মেনর অিধকারী। Ʊকননা, Ʊকবলমাø যারা সুƐ Ʊদেহর অিধকারী, তারাই সুƐ 

মেনর অিধকারী এবং Ʊখেলায়ােড়রা সুƐ Ʊদেহর অিধকারী।  
ii. Communists are patriotic and Marxist . So, some Patriots become Marxist. 

কিমউিনƉরা হন ƱদশেĴিমক এবং মা§Ƴবাদী। সুতরাং কতক ƱদশেĴিমক হন মা§Ƴবাদী।  


